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QUESTION 1

Based on the stated costs, what percentage of the total cost comes from the 2000 series of activities? 

A. 3.9% (1 : 25.708) 

B. 2.3% (1 : 43.501). 

C. 9.1% (1 : 11.000). 

D. 8.6% (1 : 11.591) 

Correct Answer: B 

 

QUESTION 2

The activity with the most total float is: 
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A. Activity I. 

B. Activity C. 

C. Activity F. 

D. Activity D. 

Correct Answer: A 

 

QUESTION 3

At the end of month one, did the delay to the parking structure foundation delay the project? 

A. NO. 
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B. Yes, by 4 calendar days. 

C. Yes, by 14 calendar days. 

D. Yes, by 9 calendar days. 

Correct Answer: B 

 

QUESTION 4

The linear scheduling velocity diagram has the following two-axis: 

A. Location and crew size 

B. Time and location 

C. Time and rate of progress 

D. Time and crew size 

Correct Answer: C 

 

QUESTION 5

What owner action could have mitigated the late completion of the project? 

A. Hire a more senior project manager. 

B. Self-perform more of the work. 

C. Use a procurement agent to monitor and expedite equipment deliveries. 

D. Prepare better structural steel drawings. 

Correct Answer: C 
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